Example Problem

Given:

Inflow hydrograph

K=2.3hr, X=0.15, At = 1 hour, Initial Q = 90 cfs
Find:

Outflow hydrograph using Muskingum routing method

. At-2KX  1-2*2.3*0.15
S 2K(@1-X)+At 2*2.3(1-0.15)+1
~At+2KX  142%2.3%0.15
S 2K(@-X)+At 2*2.3(1-0.15)+1
C2K(1-X)—At  2*2.3*(1-0.15)-1
S 2K(@1-X)+At  2*2.3(1-0.15)+1
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Example Problem

Contd...

Discharge (cfs)

Qjr1=C1lj +Col; +C3Q;

C, = 0.0631, C, = 0.3442, C, = 0.5927
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Exercise Problem

An inflow hydrograph is measured for a cross section of a stream. Compute the
outflow hydrograph at a point five miles downstream using the Muskinghum

method . Assuming K = 12hr, x=0.15, and outflow equals inflow initially. Plot the

inflow and outflow hydrograph.
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